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Mass	number	3

Massey	ferguson	number	3	baler.	Mass	number	32	atomic	number	16.	Mass	number	35.	Mass	number	31.	Mass	number	39.	Mass	number	35	atomic	number	17.	Massachusetts	ballot	question	number	3.	Mass
number	32.

Chemistry	Match	Mass	Number	Learning	Goals	to	set	nuclear	numbers	and	mass	numbers.	Determine	the	number	of	protons,	neutrons	and	electrons	at	the	atom.	Determine	the	subatomic	particle	cargo	and	relative	mass.	Mark	the	location	of	the	subatomic	particles	at	the	atom.	Determine	the	mass	of	the	atom	based	on	its	subatomic	particles.	Write
to	/z	and	symbol	mass	format	atom.	Atoms	are	the	building	blocks	of	all	substances	and	are	made	up	of	protons,	neutrons	and	electrons.	Since	atoms	are	electrically	neutral,	the	number	of	positively	charged	protons	from	the	number	of	negative	contaminated	electrons	must	be	the	same.	Since	neutrons	do	not	affect	the	charge,	the	number	of	neutrons
does	not	depend	on	the	number	of	protons	and	also	differs	between	the	atoms	of	the	same	element.	

The	element	nuclear	number	(denoted	by	the	letter	Z)	is	the	number	of	protons	in	the	nucleus	of	each	element	atom.	The	atom	can	be	classified	as	a	certain	element	based	solely	on	its	nucleus	number.	For	example,	each	atom	with	an	atomic	number	8	(its	core	has	8	protons)	is	an	oxygen	atom,	and	each	atom	with	a	different	number	of	protons	would
be	a	different	element.	The	period	breeder's	diagram	(see	Figure	below)	shows	all	the	known	elements	and	is	arranged	in	growing	order	by	nuclear	number.	In	this	table,	the	element	nuclear	number	is	indicated	above	the	element	symbol.	
Hydrogen	has	atomic	numbers	in	the	upper	left	corner	of	the	chart	1.	There	is	a	proton	in	the	nucleus	of	each	hydrogen	atom.	Next	on	the	table	is	helium,	which	has	two	protons	in	the	atomic	core.	

Lithium	atoms	have	three	protons,	Berlin's	atoms	have	four,	etc.	Illustration	\	(\	Pageindex	{1}	\):	Subatomic	Control	Code:	Proton.	Because	the	atoms	are	neutral,	the	number	of	electrons	at	the	atom	corresponds	to	the	number	of	protons.	All	hydrogen	atoms	have	an	electron	that	occupies	the	space	out	of	the	core.	Helium	with	two	protons	will	have
two	electrons.	A	proton	in	the	chemical	spacewill	always	be	equal	to	the	number	of	atoms.	This	value	will	not	change	if	the	heart	is	disabled	or	fails	(nuclear	physics).	
Image	\	(\	PageIndex	{3}	\):	Periodic	Table	of	Elements.	(CC	BY-SA	4.0	International;	shared	via	Wikipedia).	Experimental	data	have	shown	that	most	atoms	are	concentrated	in	its	nucleus,	which	consists	of	protons	and	neutrons.	The	mass	number	(represented	by	the	letter	A)	is	defined	as	the	total	number	of	protons	and	neutrons	in	an	atom.
Consider	the	table	below,	which	gives	the	data	for	the	first	six	elements	of	the	periodic	table.	

\	(\	PageIndex	{1}	\)	Table:	First	Six	Elements	of	Atoms	Atoms	Symbol	Symbol	(z)	Mass	Number	of	Neutrons	Electrons	(a)	(rounded	two	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1
1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1
1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1
1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1.01	Helium	\	(\	ce	{he}	\)	2	2	2	2	2	2	4.00	Lithium	\	(\	ce	{li}	\)	3	3	4	3	6.94	Bérilium	\	(\	ce	{	be	}	\)	6	6	6	6	12.01	Consider	the	element	helium.	Its	atomic	number	is	2,	so	there	are	two	protons	in	the	nucleus.	It	also	has	two	neutrons	in	its	nucleus.	Since	\	(2	+	2	=	4	\)	we	know	that	the	number	of	helium
atoms	is	4.	Finally,	a	helium	atom	also	has	two	electrons,	because	the	number	of	electrons	must	be	equal	to	the	number	of	protons.	This	example	might	make	you	think	that	atoms	have	the	same	number	of	protons	and	neutrons,	but	a	test	of	this	table	will	show	that	this	is	not	the	case.	For	example,	lithium	has	three	protons	and	four	neutrons,	giving	it
a	mass	number	of	Figure	7	\(\PageEdex	{4}\):	a/z	format	and	detection	of	element	subgroups	(copyright;	Elizabeth	R.	Gordon),	Knowing	that	chromium)	knowing	that	Elizabeth	R.	Gordon)	knowing	that	the	atomic	mass	number	and	the	number	allows	you	to	determine	the	number	of	neutrons	in	this	atom	with	deprivations.	\]	massage	number	52.How
many	neutrons	are	there	in	the	nucleus	of	a	chromatome?	To	determine	this,	it	is	necessary	to	subtract	as	shown:	\	[52	-	24	=	28	\:	\	text	{neutrons	in	chromatome}	\]	The	atomic	composition	can	be	used	as	a/z	format.	Both	the	nucleus	number	and	the	mass	are	recorded	on	the	left	side	of	the	chemical	symbol.	

The	"A"	value	is	written	in	the	form	of	a	body	index	and	the	"Z"	value	in	the	form	of	a	subscript.	

For	example,	look	at	the	chromatogram	shown	below:	\	[\	ce	{^{52}	_	{24}	cr}	\]	Another	way	to	refer	to	a	particular	atom	is	to	write	tratino.	The	mass	format	of	the	above	symbol	is	registered	as	CR-52.	
The	kernel	number	is	not	included	in	this	name.	You	have	to	go	to	the	periodic	table	to	get	protons.	\	(\	PageIndex	{1}	\)	example	Calculate	each	of	the	three	subatomic	particles	and	assign	specific	group	or	period	names	to	each	atom.	HG	solutions	(transition	metal)	-	80	electrons,	80	protons	and	121	neutrons	-pt	(transition	metal)	-	78	electrons,	78
protons	and	117	neutrons	-Bri	(halogen)	-	35	electrons,	35	protons	and	45	neutrons	example	\	(\	PageIndex	{	2}	\)	In	the	example	\	(\	PageIndex	{1}	\)	write	the	atoms	in	A/Z	formats	and	symbolic	mass.	Solutions	\	(\	ce	{^	{201}	{80}	hg}	\)	and	hg	-201	\	(\	ce	{^^	{195}	_	{78}	pt	\)	and	pt	-195	\	(\	ce	{^	{or	Investigation	below	Which	element	has	25
protons	Which	element	has	0	neutrons	Which	element	has	83	electrons	Decisions	a.	Manganese	b.	
Hydrogen	c.	Do	you	need	more	practice?	
-	2,	4	and	n	8.	Alison	Sour	authors	and	authors,	Ph.D.	(Department	of	Chemistry,	University	of	Kentucky)	In	this	explanation,	we	learn	how	atoms,	which	are	composed	of	protons,	neutrons,	and	electrons,	are	defined	and	calculated.	.	
Protons	and	neutrons	put	togetherAtomic	nucleus	and	electrons	are	found	in	the	electron	cloud	around	the	testicle.	This	is	a	term	that	also	means	protons	and	neutrons.	The	image	below	presents	a	boron	atom	with	five	protons	and	six	neutrons,	although	the	atomic	chart	can	easily	show	the	number	of	each	subatomic	particle	and	its	overall	location,
and	there	are	other	ways	to	show	this	information.	Nuclení	or	AZ	(this)	notation	is	one	of	these	methods.	The	general	shape	of	nuclids	is	presented	below.	In	Nuclubs	E,	this	is	a	chemical	sign	of	the	element	that	appears	in	the	periodic	system.	For	example,	CA	is	a	calcium	chemical	brand,	and	AG	is	a	chemical	brand	of	silver.	ð	Nucide	marking	means
atomic	number.	Atomic	numbers	can	be	used	to	distinguish	one	element	from	another,	because	each	element	has	its	own,	unique	atomic	number.	
This	value	is	often	saved	above	the	periodic	system	of	the	element	symbol.	
The	atomic	number	also	indicates	the	number	of	protons	in	the	core	of	all	atoms,	ions	and	isotopes.	For	example,	all	magnesium	atoms	will	have	12	protons	in	the	nucleus,	all	copper	ions	will	have	29	protons	in	the	nucleus,	and	all	bromine	isotopes	in	the	nucleus	will	have	35	protons.	ð	"weight	number:	total	number	of	nucleons	in	the	nucleus	of	the
atom,	ion	or	isotope.	With	this	formula	you	can	calculate	the	mass	number	of	atoms:	weight	number	(ð	')	=	+.	The	mass	number	is	not	typical	for	the	element.	This	means	that	atoms,	isotopes	and	ions	of	a	given	element	can	have	different	mass	numbers.	It	should	also	be	noted	that	the	weight,	as	shown	in	the	periodic	system,	has	a	relative	atomic
mass.	The	relative	atomic	mass	is	the	weighted	diameter	of	each	isotope	of	the	element.	Although	the	relative	atomic	mass	and	the	number	of	weights	can	be	similar	to	the	value,	so	it	isChanged.	The	atomic	number	of	calcium	is	42	and	the	atomic	number	is	20.	How	many	neutrons	are	in	its	nucleus?	The	answer	atomic	number	refers	to	the	number	of
protons	in	the	nucleus	of	all	atoms,	isotopes	and	ions.	Therefore,	the	nucleus	of	a	calcium	atom	with	20	protons	contains	20	protons.	The	mass	number	is	the	total	number	of	nucleons	in	the	nucleus	of	an	atom,	isotope	or	John.	The	term	nucleons	generally	refers	to	protons	and	neutrons.	To	calculate	the	mass	number:	number	of	neutrons	number	of
protons	can	use	the	following	equation:	+.	We	have	already	discovered	that	there	are	20	protons	in	a	calcium	atom.	We	can	change	the	proton	number	and	mass	number	in	the	mass	number	question	and	solve	for	the	number	of	neutrons:	42	=	20+22	=.	The	oxygen-18	isotope	has	the	symbol	188o.	How	many	protons	are	oxygen-18	atoms?	How	many
neutrons	are	oxygen-18	atoms?	What	is	the	mass	number	of	oxygen-18?	Solution	1	The	part	in	the	number	of	materials	on	the	lower	left	is	the	atomic	number.	The	atomic	number	is	the	number	of	protons	in	an	element	of	an	atom,	isotope	or	John's	nucleus.	Therefore,	all	oxygen-18	atoms	have	eight	protons.	The	part	2	in	the	kernel	denoting	the	upper
left	number	is	the	mass	number.	The	mass	number	is	the	total	number	of	nucleons	in	the	nucleus	of	an	atom,	isotope	or	John.	The	term	nucleons	generally	refers	to	protons	and	neutrons.	To	calculate	the	mass	number:	MassanumerOprotonOmeroneTronons	can	use	the	following	equation,	we	have	already	found	that	the	oxygen-18	atom	has	eight
protons.	We	can	change	the	number	and	mass	of	protonsIn	the	amount	of	weight	in	the	equation	and	solve	the	number	of	neutrons:	18	=	8	+	10	=	..	Nobrofneutronsnaberofneutronsol	18	oxygen	atoms	has	10	neutrons.	The	result	of	the	nucleus	3,	the	upper	left	number	is	the	amount	of	weight.	The	amount	of	mass	is	the	total	number	of	testicles	in	the
nucleus	of	the	atom,	isotope	or	ion.	The	amount	of	oxygen-18	is	18.	Estimating	the	testicle	is	often	simplified	by	bypassing	the	atomic	number,	because	this	value	can	be	easily	determined	by	means	of	a	periodic	system	of	elements.	Thus,	a	simplified	boron	atom	containing	five	protons,	six	neutrons	and	five	electrons,	the	nuclear	label	is	11b.	We	can
also	rely	on	this	boron	atom,	entering	the	chemical	name	followed	by	a	dashboard	and	the	number	of	digits.	For	example,	we	could	call	this	atom	of	Boru	a	well	11.	The	atomic	number	of	Helio-4	is	equal	to	half	of	its	mass	number.	How	many	neutrons	do	Helio-4	atoms	contain?	The	answer	to	the	Helio-4	label,	the	fourth	number	shows	the	number	of
this	Hel	mass.	If	the	atomic	number	of	Helu-4	is	equal	to	half	of	its	mass	number,	the	atomic	number	of	Hel	is	two.	The	atomic	number	indicates	the	number	of	protons	in	the	nucleus	of	all	atoms,	isotopes	and	ions.	So	the	Hel	atom,	whose	atomic	number	is	two,	has	two	protons	in	the	nucleus.	
To	determine	the	number	of	neutrons,	we	must	recognize	that	the	amount	of	mass	is	a	common	nucleus	of	the	atom,	isotope	or	ion	nucleus.	The	concept	of	nucleons	together	refers	to	protons	and	neutrons.	To	calculate	the	mass	problem,	the	following	equation	can	be	used:	Masnbumeofprotonliczbaneutrons	=	+.	We	can	change	the	number	of	protons
and	the	amount	of	mass	in	the	equation	equation	and	solve	the	number	of	neutrons:	4	=	2	+	2	=.	Helis-4	has	two	neutrons	in	its	nucleus.	Nucledes	Marking	provides	information	on	the	number	of	protons	and	neutrons	in	the	nucleus	of	the	atom,	isotope	or	jon.	Zero	rating	can	alsoWe	determine	the	number	of	electrons	in	an	atom.	Although	the	atoms
are	neutrally	charged,	the	number	of	positively	charged	protons	should	equal	the	number	of	negatively	charged	electrons.	A	carbon	atom	has	an	atomic	number	of	6	and	a	mass	number	of	12.	How	many	protons	are	in	a	carbon	atom?	
Are	there	neutrons	in	a	carbon	atom?	
How	many	electrons	are	in	a	carbon	atom?	Answer	Part	1.	Atom,	isotope	or	ion	of	an	element.	As	a	result,	carbon	number	six	has	six	protons.	Part	2	The	mass	number	is	the	total	number	of	nucleons	in	the	nucleus	of	an	atom,	isotope	or	ion.	The	term	nucleonic	in	conjunction	refers	to	protons	and	neutrons.	The	next	equation	can	be	used	to	calculate
the	mass	number:	MassNumberNumiferOfprotongSnumboofneutrons	=	+.	We	have	already	established	that	a	carbon	atom	contains	six	protons.	
We	can	substitute	the	number	of	protons	and	the	mass	number	in	the	mass	number	equation	and	solve	the	number	of	neutrons	for	the	number	of	neutrons:	12	=	6	+	6	=.	The	fact	of	neutron	shoes.	This	carbon	atom	has	six	parts	of	neutrons	3an	atom	of	any	element	is	neutral.	To	have	a	neutral	charge,	the	number	of	positively	charged	protons	must
equal	the	number	of	negatively	charged	electrons.	A	carbon	atom	contains	six	protons.	Therefore,	it	must	have	six	electrons	to	charge	the	neutral.	In	Iona,	the	number	of	protons	and	the	number	of	electrons	are	not	the	same.	This	leads	to	the	fact	that	the	ions	have	an	integer	charge.	The	charge	of	an	ion	can	be	calculated	by	subtracting	the	number
of	electrons	between	the	protons.	Sign	first.	For	example,	a	fee	for	two	advantages	should	be	recorded	as	2+.	
We	can	get	involvedion	by	recording	the	charge	as	the	value	of	the	element	symbol	above.	For	example,	a	sodium	ion	contains	12	neutrons	and	10	electrons.	Looking	at	the	periodic	table,	we	see	that	the	element	sodium	atom	is	11.	This	means	that	this	sodium	ion	will	contain	11	protons.	The	designation	of	this	sodium	ion	nuclein	was	written	as
follows.	Copper	Jon	has	the	nuclear	designation	65292+Cu.	How	many	protons	are	there	in	this	copper	ion?	How	many	neutrons	are	there	in	these	copper	ions?	How	many	electrons?	Does	it	have	copper	ions?	Answer	the	basic	part	of	part	1,	the	number	at	the	bottom	left	is	the	atomic	number.	The	nuclear	number	is	the	number	of	protons	in	the
nucleus	of	an	atom,	isotope	or	ion.	Therefore,	this	copper	ion	with	atomic	number	29	has	29	protons.	In	part	2,	the	number	at	the	top	left	is	the	mass	number.	The	mass	number	is	the	total	number	of	atoms	of	nucleons,	isotopes	or	ions	in	the	nucleus.	
The	term	nucleons	means	together	protons	and	neutrons.	The	following	equation	can	be	used	to	calculate	the	mass	number:	MassNumberNumberOfProduceFneutrons	=+.	We	have	already	discovered	that	this	copper	ion	has	29	protons.	We	can	substitute	the	number	of	protons	and	the	mass	number	into	the	mass	equation	and	solve	for	the	number	of
neutrons:	65	=	29+36	=	.Nummerophneutronsnumberophneutrons	for	this	copper	ion	have	36	neutrons.	Part	3	The	number	written	in	the	upper	right	corner	corresponds	to	Jon's	fees.	There	are	27	electrons	in	energy.	The	neglect	notation,	ï,	can	be	used	to	represent	the	number	of	atoms,	isotopes	or	ionic	atoms,	and	the	mass	number.	The	symbol	ð	`
means	mass	number:	integerThe	symbol	ð	represents	the	atomic	number:	the	number	of	protons	in	the	core.	In	the	atom	number,	the	number	of	electrons	in	the	electron	cloud	also	indicates.	The	charge	on	the	ion	can	be	calculated	by	deducting	the	number	of	electrons	from	the	number	of	protons.	protons.


